B840y KT KBUY Maintenance Free/Rod Ends(Female) MHS series qeq@ (017220

T
W
W]
-6[ Q’/f o
|
- ‘
T |
i yE
A [T 1] 7R
D ,J S,
H
#£357 : MHS> ) =Xtk BAST : mm
i ES G NE B RV BERWE| H &
y =B 1 F C
f£AY |d|d |[D|D |D.|W|W, |T| L |L |L|L S H| B (kN) (kg)
MHS5 7
MHS5L 51 77116 | 9 11| 6 3 81| 35 27112 | 4 M5X0.8 9 s 4.4 0.018
MHS6 1
MHS6L 6| 9 18 |10 13| 6.7 3.3] 9| 39 30|14 | 5 M6 X 1 11 Y 5.7 0.026
MHSS8 5
MHSSL 8110.4| 22 |125|16| 9 45|12 | 47 36|17 5 M8X1.25 | 14 % 10.3 0.045
MHS10
X 3
MHS10L 10 |12.9] 26 |15 19 |11 55( 14 | 56 4321 | 65| MIOX1.5 |17 7 15.2 0.076
MHS12
X 7
MHS12L 12 115.4| 30 |17.5] 22 |12 6 16 | 65 50| 24 | 6.5[M12X1.75| 19 A 20.0 0.114
MHS14
X
MHS14L 14 |16.9| 34 | 20 25 [ 14 7 19| 74 57|27 | 8 M14X2 | 22 1 26.7 0.158
MHS16
X 18 . .
MHS16L | 1619438 |22 |27 |15 | 75/ 21| 83 | 64|33 |8 | MI6X2 | 22| 1% 32.9 0.200
MHS18
. . X1. Y . .
MHS18L 18 |21.9( 42 |25 31 (17 85| 23| 92 71136 |10 [ M18X1.5 | 27 1% 41.3 0.288
MHS20
x 38 . .
MHS20L 20 [24.4] 46 |27.5| 34 |18 9 25 1100 77| 40 |10 M20X1.5 | 30 134 48.9 0.372
MHS22
X 12 . .
MHS22L 22 [25.8| 50 |30 37 {20 |10 28 |109 84 |43 |12 M22X1.5 | 32 124 59.1 0.475
MHS25
X 11 16 i i
MHS25L 25 129.6| 56 [33.5]| 42 |22 |11 31 (122 94 | 48 |12 M24X2 | 36 1 75.1 0.673
MHS30
. . X . .
MHS30L 30 [34.8| 67 |40 50 |26 |13 37 |143.5{110| 56 |15 M30X2 | 41 2 104.0 1.050
#*358 : FREHIAE B E
WEd (mm) | 5| 6| 8[10[12(14|16[18(20|22 (2530
a; |45 8 10| 8 |10|11 |12 |11 |11 |12|12]|12
MHS
a |7 1114121314 |15(14|14|15|15| 15

441



